This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 5 - Stepps Chryston and Muirhead

4,848

3

1,213

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Josh CAIRNS	Scottish National Party (SNP)	1,299
Neil K CASEY	Scottish Liberal Democrats	154
lan MACQUARRIE	Scottish National Party (SNP)	467
John MCLAREN	Scottish Labour Party	1,159
Crissy SANDHU	Scottish Conservative and Unionist	725
Margaret-Anne SHAW	Scottish Labour Party	521
Claire Louise WILLIAMS	Scottish Greens - Think Global Act Local	523
	Total	4,848

Candidate Josh CAIRNS Elected with 1,299 votes, being in excess of the quota of 1,213

This report contains the transfers results.

Stage 2 - Surplus of Josh CAIRNS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil K CASEY	18	0.06620	1.19160
Transfer to Ian MACQUARRIE	1,087	0.06620	71.95940
Transfer to John MCLAREN	47	0.06620	3.11140
Transfer to Margaret-Anne SHAW	24	0.06620	1.58880
Transfer to Claire Louise WILLIAMS	86	0.06620	5.69320
No further preference	31	0.06620	2.05220
Not transferred due to rounding			0.00620
	Total		86.00000

This report contains the transfers results.

Stage 3 - Exclusion of Neil K CASEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian MACQUARRIE	9	1.00000	9.00000
Transfer to John MCLAREN	42	1.00000	42.00000
Transfer to Crissy SANDHU	32	1.00000	32.00000
Transfer to Margaret-Anne SHAW	26	1.00000	26.00000
Transfer to Claire Louise WILLIAMS	28	1.00000	28.00000
Transfer to Ian MACQUARRIE	5	0.06620	0.33100
Transfer to John MCLAREN	4	0.06620	0.26480
Transfer to Crissy SANDHU	1	0.06620	0.06620
Transfer to Margaret-Anne SHAW	2	0.06620	0.13240
Transfer to Claire Louise WILLIAMS	3	0.06620	0.19860
No further preference	17	1.00000	17.00000
No further preference	3	0.06620	0.19860
Not transferred due to rounding			0.00000
	Total		155.19160

This report contains the transfers results.

Stage 4 - Exclusion of Ian MACQUARRIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John MCLAREN	57	1.00000	57.00000
Transfer to Crissy SANDHU	8	1.00000	8.00000
Transfer to Margaret-Anne SHAW	50	1.00000	50.00000
Transfer to Claire Louise WILLIAMS	260	1.00000	260.00000
Transfer to John MCLAREN	161	0.06620	10.65820
Transfer to Crissy SANDHU	13	0.06620	0.86060
Transfer to Margaret-Anne SHAW	66	0.06620	4.36920
Transfer to Claire Louise WILLIAMS	589	0.06620	38.99180
No further preference	101	1.00000	101.00000
No further preference	263	0.06620	17.41060
Not transferred due to rounding			0.00000
	Total		548.29040

This report contains the transfers results.

Stage 5 - Surplus of John MCLAREN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Crissy SANDHU	116	0.04640	5.38240
Transfer to Margaret-Anne SHAW	923	0.04640	42.82720
Transfer to Claire Louise WILLIAMS	60	0.04640	2.78400
Transfer to Crissy SANDHU	3	0.00307	0.00921
Transfer to Margaret-Anne SHAW	100	0.00307	0.30700
Transfer to Claire Louise WILLIAMS	27	0.00307	0.08289
No further preference	159	0.04640	7.37760
No further preference	82	0.00307	0.25174
Not transferred due to rounding			0.01236
	Total		59.03440

This report contains the transfers results.

Stage 6 - Exclusion of Margaret-Anne SHAW

646.22460

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Crissy SANDHU	89	1.00000	89.00000
Transfer to Claire Louise WILLIAMS	172	1.00000	172.00000
Transfer to Crissy SANDHU	1	0.06620	0.06620
Transfer to Claire Louise WILLIAMS	35	0.06620	2.31700
Transfer to Crissy SANDHU	190	0.04640	8.81600
Transfer to Claire Louise WILLIAMS	225	0.04640	10.44000
Transfer to Crissy SANDHU	10	0.00307	0.03070
Transfer to Claire Louise WILLIAMS	45	0.00307	0.13815
No further preference	336	1.00000	336.00000
No further preference	56	0.06620	3.70720
No further preference	508	0.04640	23.57120
No further preference	45	0.00307	0.13815
Not transferred due to rounding			0.00000
	Total		646.22460

Report Name: Transfers_V0001_Ward-5---Stepps-Chryston-and-Muirhead_06052022_160805.pdf Created: 06-5-2022 16:08:05

This report contains the transfers results.

Stage 7 - Exclusion of Crissy SANDHU

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Claire Louise WILLIAMS	170	1.00000	170.00000
Transfer to Claire Louise WILLIAMS	5	0.06620	0.33100
Transfer to Claire Louise WILLIAMS	79	0.04640	3.66560
Transfer to Claire Louise WILLIAMS	12	0.00307	0.03684
No further preference	684	1.00000	684.00000
No further preference	16	0.06620	1.05920
No further preference	227	0.04640	10.53280
No further preference	1	0.00307	0.00307
Not transferred due to rounding			0.00000
	Total		869.62851